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i A stock is currently selling for 60. The price of the stock at the end of the year is

expected either to increase by 25% or to decrease by 20%. The riskless interest
-1 rate is 5%. Calculate the price of a European put on the stock with exercise price
55 Use the ‘binomial optlon-prlcmg model and draw the graph.
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‘Assume tBe eorporate tax rate lS 34% A firm has perpetual expected EBIT of
$100, ,The ﬁrm has no debt in its capital structure. Its cost of equity is 10%.

. What would be the value of the firm if i lt lssued $400 in perpetual debt?

A firm has a $10 mllhon portfoho with a beta of 1 .2. The S&P is currently 900
and one futures contract is on $250 times the index. How can the company use
futures contracts on the S&P 500 to completely hedge its risk over the next six
months? What position should it take to reduce the beta of the portfolio to 0.3?
The 1‘-year riskless interest rate is 5.65%. A stock sells for $ 244. A three-

‘month $25 call sells for $1. For what price should a three-month $25 put sell?
‘Acer’s'operating income is $500,000, the company’s interest expense is
-$200,000, and its tax rate is 40%. What is the company’s degree of financial
leverage? If the company were able to double its operating income, what would

be the percentage increase in net income?
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‘We have two risky assets: A and B. The expected return of asset A is 12% and
for asset B is 8%. The standard deviation of return for asset A is 8% and for
asset B is 6%. The correlation coefficient of return between asset A and B is 0.
If there also exists a riskless asset with a return of 7%, what is the composition of
the tangency portfolio (i.e., the optimal risky portfolio)?

You are evaluating a company’s common stock based on the following
information and assumptions:

The stock paid a $3.00 annual dividend a few years ago. The exact dividend will
be received in one year. Annual dividends are expected to remain constant for
three years, ending with the dividend baid at t=3. After that, dividends are
expected to GROW by 8% per year throughout the foreseeable future. If your
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opponumty cost is 18% for investments of this risk level, what is the e,
maximum price that you be willing to pay for a share of thls stock?

9.  Caiculate the duration of a 2-year, $1,000 bond that pays an annual coupori of -
10% and trades at a yield of 10%. RTINS R AN SRS
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